
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

cuatro números enteros, orden de operaciones con
corchetes

56(9 − 4) ÷ 8 = (18 ÷ 3 + 6) × 5 =

88(8 + 9) ÷ 8 = 7 + 7(11 + 4) =

(16 ÷ 2 − 9) × 3 = 6 − 11(3 − 5) =

(48 ÷ 6 + 9) × 3 = (20 ÷ 2 + 3) × 11 =

7 + 4(6 + 10) = (20 ÷ 4 + 7) × 10 =
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

cuatro números enteros, orden de operaciones con
corchetes

56(9 − 4) ÷ 8 = 35 (18 ÷ 3 + 6) × 5 = 60

88(8 + 9) ÷ 8 = 187 7 + 7(11 + 4) = 112

(16 ÷ 2 − 9) × 3 = (−3) 6 − 11(3 − 5) = 28

(48 ÷ 6 + 9) × 3 = 51 (20 ÷ 2 + 3) × 11 = 143

7 + 4(6 + 10) = 71 (20 ÷ 4 + 7) × 10 = 120
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